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{ current and anﬁoﬂ»oﬁé force 63@%@&5 use en-

1 Which combination 0
rate? i%%%\

ergy at the greatest
% amperes at 110 volts 3) 3 amperes at 220 volts
8 amperes at 110 volts (4) 5amperes at 110 volts
9 Two resistors are connected in vmnm:mw to a 12-volt battery as
shown in the diagram. If the current in resistance Ris3.0 %
amperes, the rate at which R consumes electrical energy is
1) 11x 102 watts Q
WW watts
watts
(4) 4.0 watts 3.0
3 The co«mapmw difference across 2 100.-ochm resistor is 4.0 amp.
~ What is the power dissipated in the resistor? @
0.16 watt g\»b x 102 watts R 12V
2) 25 watts 4) 4.0 watts
4 An wwmnqwomvwwmnmu raises the temperature ofa measured quantity of wa-
ter. Six tho nd joules of energy is absorbed by the water from the heat-
er in 30.0 wmaoﬁm. What is the minimum power rating of the heater?
1) 5.00 x 102 3) 2.00x10°W V= A
2,00 x 102 W (4) 180x 10°W T
5 at is the current 1n 2 1,200-watt heater operating on 120 volts?
(1) 0.10 ampere 0. amperes
92(). amperes
in aresis-

a 2 -ampere current
X Sy

6 A10 ~volt voﬁmsa& difference maintains
ded by this resistor in5 8 nds pmin U 1 16 The potential d
’ ential diffe

i
d in orger

4) 1000,000 sec

tor. The total energy expen
0d (2) 20J (3) 50J
How long must a 100-watt light bulb be use

dissipate 1,000

es of electrical energy’
g (2) 100 sec 3) 1,000 sec
e of a lamp ovmmmao@ ata constant voltage increases, the_
the lamp &\% ,ﬂ% v
decreases 2) increases 3) remains the same = ey
. R )
tions 9 through 1

Base your answers to Ques
ow which shows 3

13 on the diagram bel
resistors oovumoam& toa 15-volt source.

alent resistance of the circuit

is

(1) 10 ohms % ohms

@ 20 ohms 40 ohms
1 difference across

10 The ﬁowmmﬁm
m%.o volts .
er aveloped In the cipouil 18
5 watts

@) 25 volts
11 The total pow
) 50 watts
4 and repla by & resistor 0

g The equiv

4) 10 volts

n 2.5 watts @) 10 watts
12 M resistor Rg 18 remove

sta
3 remain the same

[ —

i

{ lower value, the

Da Smm.

13 Compared to
the heat developed i
ped in resistor R
|, the heat develo i
ped in

Ryis ‘ A.

e-third as ﬁn,is_ Wm
) two times mwmmn.wmmmnw 3 ee times as great
(4) one-fourth as great

Base yo
ur answers to i
questions 3.0
.U amperes

14 through 18 on the di

1 e diagram be-
MM%m,Mr_n: n.mnnwmmam three n.mmwM. [ @
- N».wwm\mnﬁmu in parallel across {24 m :
a 2 source. The ammeter volt SR \m

ads 3 amperes. souree 2 ' f2g "3
_ & R

14 The equival i _ ”

P omw Nm mowwe 7 it mnnm in the circuit is

B.0 ohms (3) 58 ohms 4) 72 ohms

15 The current in RS
(1) 0.83 amperes
(2) 1.5 amperes AWWW\WW amperes
0 8ovelts (@) qce across Ryls Rmpere
. s
17 1f the ratio of the® )24 volts -~ (3) 4
; he .meo of the rent in Rg to owmvoﬁwﬂ,mwﬂ H 'ﬁv. 72 volts
M R, is in Ry is 4:5, the resistance
1) 50ohms (2) 8
.0 ohms
18 The power supplied to the nwwwc ,
(1) 220 watts ~ (2) 190 watts/

TG 60. ohms

(4) 24 watts

R
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